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In a right-angled triangle,

where C = 90°,

2sinAcosBsinC — (sin2A4 — sin2B +
cos2B) =7
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Find the maximum value of

2
Y Ssinx + 4
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Given 472 = 8>, find the sum of the
roots.

Find k for log,81* = 8.

Find the last digit of 17 + 2% + 32
+ 42009 + 52009.

S5

If the median of the 5 different integers
2,7,10, x,2x—31s 7, then x = ?
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calculator.
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A(25,7), B(18, a) and C(11, 7). Find x.
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them are 54, 63, 75, 86, 98 and 107. If x
is the sum of the 3 odd numbers among
those 4 positive integers, find the value
of x —100.
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where 4, B, C are all distinct integers,
find 4 + B+ C.
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A straight line y = p (p > 0) intersects
the curve y = x* —4x + (21 + p) at A(a, p)
and B(B, p), find the value of af.
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-5 2sin4 —3cosA
If tanA4 = 4 then —3sind + 2cosA
k .

ﬁ . Find k.
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Solveforn:1 +3+5+..+45=n’
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In the figure, X and Y are points on AB
and BC respectively such that AX : XB =
3:2and BY: YC = 4 : 3. If the area of
AABC = 70, find the area of A4AXY.
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The length of a rectangle is decreased by
20%. Assume the area of the rectangle
remains unchanged, find the percentage
increase of its width.
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Find the area of the triangle 4 BC,
correct to the nearest integer.
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If 28“ = 6, 28" = 18,
1
find the value of 3°7“.
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Among 10 consecutive positive integers,
the sum of multiples of 3 is 99 and the
sum of multiples of 2 is 170. Find the
smallest integer.
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X’s age is 5 times the sum of his two
sons’ ages now and it reduces to twice of
their sum 6 years later. If the elder son’s
age is twice the age of the second son 3
years later from now, what is X’s present
age?
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